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3amauga L-27.1.

Azees Esgzenuti

o N
/ o = 45°,
AB =30, BC = 30,
D DB =50, DF = 15,
o NC =50, EH = 30,
FE =15, FG = 10,
OA =30, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T =[8,7,6,5 H.
Sanaua L-27.2. Bobposcruti Pycaan
c B g a=30,
- P AB = 30, BC = 30,
, NB =50, NF = 40,
5 M N CD = 40, EH = 30,
6 B 2 yr FE =15, FG = 30,
) ' OA =30, KG = 20.
o, »=10.1,0.3,0.35,0.25],
%\\' H@/ T =[8.5,7.5,6.5,5.5] H.
™ ="

3amauga L-27.3.

Jub Herwan

a = 45°,

AB =25, BC =10,
BF =80, FD = 20,
NC =15, EH = 30,
FE =35, FG = 25,
OA =30, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T =[8,7.5,6.5,5.5] H.




3agaua L-27.4.

Epsyros Hava

a = 30°,

AB = 30, BC = 30,
NB =60, NF = 40,
CD =40, EH = 30,
FE =35, FG = 30,
OA =30, KG = 20.

p = [0.05,0.35,0.4,0.2],
T =[8,7.5,6.5,5] H.

3agaua L-27.5.

Maxcumos mumpui

a = 30°,

AB = 20, BC = 10,
BF =80, NF = 20,
CD =40, EH = 30,
FG =10, GE = 45,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =[8,7,6.5,5.5] H.

3amaua L-27.6.

Hunananos Ubpazum

a = 30°,

AB = 30, BC = 30,
DB =60, DF = 30,
NC =15, EH = 30,
FE =35, FG = 10,
OA =30, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =1[8,7.5,6,5] H.

3amauga L-27.7.

N
ik

Ozonvroe Cmenan

a = 30°,

AB = 20, BC = 10,
BF =50, NF = 50,
CD =15, EH = 30,
FG = 25, GE = 10,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =18,7.5,6,5.5] H.




3agaua L-27.8.

Iloepees Bacuaud

a = 30°,

AB =10, BC = 30,
NB =60, NF = 40,
CD =15, EH = 30,

F  FE =15, FG = 30,

OA =20, KG = 20.
p=[0.05,0.35,0.4,0.2],
T =1[8,7,6.5,5 H.

3anaua L-27.9.

D

0]
Ve

Cmemanun Jlenuc

o =45°,

AB =20, BC = 10,
BF =50, FD = 50,
NC =15, EH = 30,
FE =50, FG = 30,
OA =20, KG = 25.

p = [0.05,0.35,0.4,0.2],
T =1[8,7,6.5,5] H.

3agaua L-27.10.

Tpynos Ilasea

o = 45°,

AB =10, BC = 30,
DB =60, DF = 30,
NC =15, EH = 30,
FE =15, FG = 10,
OA =20, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T =[8,7.5,6,5] H.

3agaua L-27.11.

Q

Muzatinos Anmon

a = 30°,

AB =10, BC = 30,
DB =50, DF = 15,
NC =50, EH = 30,
FE =35, FG = 20,
OA =20, KG = 25.
p=1[0.1,0.3,0.4,0.2],
T =8,7,6.5,5.5) H.




Sagaga L-27.12.

3amaga L-27.13.

Ayros Baadumup

a = 30°,

AB = 20, BC = 10,
BF — 80, FD = 20,
NC =15, EH = 30,
FE =35 FG =2,
OA = 20, KG =25
p=10.1,0.3,0.35,0.25],
T=1[8575655 H.

Bamcatizarn Xarneat
a = 30°,

AB = 30, BC = 30,
DB =00, bE =50,
K PE i rG_%
. FE=15, FG = 20,
OA = 30, KG =25

p=1[0.1,03,0.35,0.25],
T'=185,7,6,55] H.




